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1 | 200 C iy=—222, Coiy=—a*+22—35%FXD. ZDL ¥, KOMIER L.

(1) 1 Cy & His Co 0 2 DD ZE D FERE % Rkeb k.

(2) a2 FEHETB. H(a, —a+2a—35) 125 3R Co DO HTERE Kb L.

(3) fictis Cy & ks Co THIE N7~ O HEIFE% KD &.

4) (D) TROALEED rBfEE D, c(D<c) b T3, F77, b<asck$d. ZOrE, WWHC LW
6 Cp 35 KT (2) TRD - BHTH £ N7 BUBOTRRS 22 2 55 & 5% a Offte Kb &

(1) -x*+2x-35-(-2x?) =0
. x*+2x-35=0
(x=5)(x+T)=0 ~X=5,-7
s R&0E (-T7,-98), (5, -50)

/"

(2 fo=-x2+2x-35 tH< K,
flo==2x+2
fdo(a,~02+2a-35) 138173 Co 0 14K 12,
Y= (-2a+2)(x-a)-a*+2a-35
T4h%5, Y=-2(a-1)x+a*-35

L1

@) g= f ~22%~ (- x*+2x- 35) dx

= -js (X+7)(x~5) dx
-1

{ .
.-;\-t
- 3 g a4l
= £ {5-(-1}
= 288
b y,
@@ otEMRECroxsa )i e, (a<P)eTay, € f1d
222-2(a-Nx+a*-35=0 . o :

0Bl ot BR e 1k¥afH Ry,

d+p=a-1, ap= 7(a*-35) Y/

31_;_2_ 288 - fﬁ ~2x-{-20a- N2 +a* =35} dx

2
: *2[ (x=d)X=P)dx = E’—
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((5 a)=

288
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1| 2200t C iy =—22%, Co:y=—a*+2r—3Bb%EZXBE. ZOLX, XOMIZER L.

(1) Hss Cy & g Co D 2 DDA RO % R & .

(2) aZ2%EHL 35, M (a, —a?+2a—35) 12813 3 HWE Co DBHRD HFER%E KD &.

(3) i Cy & Bis Co Tl EN 2 IO HERE R &.

() (D) TROZZEDxFEEED, c(b<c)&T3. £/, b<a<sckTd. Z0OL%, BWEC, LW

i Co 5 X 0° (2) TR BEACI /- B O HRD 322 LB Y SR aDfERD &,

4y 272" F,
dtf=a-1, f-d =8, aff = —2',—(a2-35> ¥

(d+P)?= (P-a)* + 4af 12 1KALT,
(a-1)*= 64 +2(a*-35)

L a%+20-T=0

RS 2P

-TSRES &), €553 5 aRT.

Lq= —-1T2{2
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